1.

HR

-
w

BJISY—Y DAEHFA B+t WRRW #EER e Vez-ur—2
= IS “_ —— =
BEE V)L — & XEAE
" == = — Tos
Lo g = oS (B52) (2 B | BR | BR[| BE | OMES HE |y JANT—
B & M T R GE R BT BT GEE
R 10640 | 50cm ==EE @GEF| 2,350 (2,468) 1 50cm 45cm |25 20cm|00m AT sl 20om| 520%15%14 | ggg z.||c|;|f!|c|1|c|;"1"o|"|1"o"!slzl.Io"!s"
- 200 320x15x1.4 (IO LTI
7’ 10647 | 30cm HRERH MGHER | 2,150 (2,258) [EI/Z2| 30cm|250m| 156m| 100m | 300m| S 73 15om| 10em| ¥y 568 4196091011064 75
Bl
Rgg 10643 | 1R5Y ==EE GHEA| 2,350 (2,468) B R5 | 1R |75%| 7% | R6 IJer 58| 7 | e | 8ee | 10 4||g(1|clllgl1llol"I1“0"!slzl.l3"7|"
N _ 1R 5201514 ([0 A O 1
gg@ 10646 | 1R6Y =EEE @EA | 2,350 (2,468) ||\V||IE| Rs | 1R | 87 | 73 | RE | 5| 8% | 79 | Gl 8se 4 1960910106468
=]
[EES _ N 7 . I i
B 10648 | 1R ==EE HEA| 2,150 (2,258) BIE R |77 |5t st IR\ Y5t | 81 | Q0194 | see o I AL
=
23
£x . —
Z 1k SlE < — : B EX:EXRER
28 BEE VIV\— & EEAE BE:AESE ENENREm
; =EE REE I
e, BEIE g % BRTEEE (B5D) [T B | mm | B | Gk | SOMESIHE ), JANT— K
gx & e TR e T R GE
o I
4 10653 |50cm EERAE ®WGER| 2,350 (2,468) /2 |50cm|45cm|25cm [20cm | & E ;ﬁ 25om| — | S2ON15X14 | ggg 4 ||,|9|6|,|0||,!,||1|g|||1"c,||y536||
> 00100 R
5% 10652 | 30cm =EAR ® GER | 2,150 (2,258) |[\/] 188|300/ 250m| 150m | 100m| | |150m| — | 320X18%14 | 55 o N AT TR
R&
=N 00100 RN AR O
2 10654 | 1R5Y =EEAR FHER| 2,350 (2,468) BE| R5 | 1R |75¢| 7% |@E mIJI 759/ 08| B4 | ees 10|, ||960910||106543||
il iy 0 R T
g 10655 | 1R6<t =@&EE FHER| 2,350 (2,468) R Rs | 1R | 87 | 7Y |mE| T 8Y [nE| 520X15%14 | gag 4||960910||106550||
A
L7 ‘ 00100 RN 0O
oa 10657 | 1R =EAE FHEA | 2,150 (2,258) BIE| 1R | 79| 5% | 37 |@A| IR | 53 nAE| T | see 4"960910"106574"
&
H
= ~ "
5 EEE VILN— B HEas
— ; == EEE | me )
,l( ok 8 % TS (BD) S WO I s | B | A SRE=EF
U |
10638 |50cm,/ 1RE #/AEE R GE| 2,350 (2,468) |[\V/]|E{socn|ssem 2son|eoem| 75 | 1% |75 7 | 5251514 | aes o S Ly
%Y i T
%Jj 10639 |50cm./ 1R6Y #MEE R GER| 2,350 (2,468) |[V/]|BIEE[s00m|a5om(250m eoem| R | IR | 3 | 79 | 520%19%14 | ggg o 10 JUIUREIRL 0|
g%
A
g' 10642 | 30cm.” 1R #FHBEE /R GEA| 2,150 (2,258) EIIEE | 30cm| 25cm| 15¢m|10em| 1R F/ 59 | 3¢ | Ry 114 | see 4 IIJ;'(L'(')'!JL"JIIQ'!)'L!)L!'Z'HII
E 10
§% 0om|40CM| o5cm|200m| 520%16%14 | gg |||| |||||||||||||||I|| ||||||||
S 10644 | 1R5</60cm #AE® [R/m@ES | 2,350 (2,468) FIE| R5 | 1R |75%| 7% |B0cm| % 250m(200m| 2O e LSy
i . 400 pcnlogen] 520X15%1.4 g |
A 10645 | 1R6~,/50cm #ABER R/Cm 5']'?‘ 2,350 (2,468) BE| R6 | 1R | 8% | 7% |50cm ey 25cm|20em| - ) 88g 419609101 06451
% T
&tél 10649 | 1R 30cm HEEE Rlal@ES | 2,150 (2,258) BIE| 1R | 7% | 5¢ | 3¢ 300m2§?}]150m100m 320x15x14 | g 4||gé|>|(|)|(I?II1IO||106499||
R
=
B _
L 50cm ®ERE
- 30cm ®E[H
T
%
L 1R6Y XERE
= 1R6Y %ERE
B 1R XEEH
AR ST
J=
st=
st .
—~ 30cm EEAR
™~
N
[ _
i 1R5Y EEAE
I 1R6Y ZEAE
i 1R BEHAE
~ 50cm/ 1 R5
. (=l
& 50cm/1R63
B
=2 30cm/1R HFEEE
i 1R5/50cm
< HABR
5 1R63/50cm
= HtFAER
"{ 1R/30cm #ABE
B IER) enrerenuEeTs. W] EAE | 100mmico*+0.1mmilT
grg ONMUERDABBENTWVTWVET, P = EcOHFEE| +0.2mm
A ES ==
= YJL—MT mE |ATYUR



